o 1" &
4" = 2 HOLES ITEM| TOTAL |yNiT
NO BLOCK NEEDED - | NO. | QUANT I TY |UN! | TEM
EXISTING 10” WIDE ON THIS POST 4*» - O 205" | '
CWING WALL WOOD POSTS FROM L o , | | LUMP SUM| L.S.|MOBILIZATION
HERE — NORTHERLY. 0 8757 2 126 | L .F.| REMOVE BEAM GUARDRAIL
(SEE NOTE BELOW) 2" TRAFFIC
l 3 62.5|L.F.| BEAM GUARDRAIL WITH 4 FOOT LONG STEEL POSTS
‘ NOTE : - [2.25 4 662.5| L.F.| BEAM GUARDRAIL TYPE |, WITH 8 FOOT LONG POSTS
BEGIN RUN OF RAIL AT NORTHERLY END . ) )
] OF 12” WALL (AS SHOWN BELOW). THE "'_"_0'5 0.875 —= [=—0.875 _7_5__ 4.00 L.F.| BEAM GUARDRAIL TYPE |, ALTERNATE — WITH 8 FOOT LONG POSTS
FIRST POST NORTH OF THAT END POST b0 P 6 175 L .F.| BEAM GUARDRAIL TYPE I, WITH || FOOT LONG POSTS
WILL NOT REQUIRE A BLOCK. 4 : L > s |7 P
{ Tt .f i \ o 7 187.5| L.F.| BEAM GUARDRAIL TYPE |, ALTERNATE — WITH || FOOT LONG POSTS
| ]
- ’ I P 8 | 2073 |L.F.|BEAM GUARDRAIL TYPE |
9 5/5.5|L.F.| BEAM GUARDRAIL TYPE |, ALTERNATE
POST SUPPORT BRACKET 10 18 EACH| BEAM GUARDRAIL ANCHOR TYPE |
NO SCALE || 3 EACH| BEAM GUARDRAIL ANCHOR TYPE 2
|2 240 HOUR| TRAFFIC CONTROL LABOR

STEEL POSTS IN
THIS AREA ONLY.

2 — 5/8" @ x 2" HEX HEAD BOLT
W/NUT & CUT WASHER

(USE ANY 2 DIAGONAL HOLES) PP

- | —{l—o0.875" | . ~—0.875"
s 2 I
..... LT & Y T
y T - 5/8"F x 2” BUT}ON HEAD BOLT 1 f H H g
N . W/NUT & WASHER ) 8125”" & )
© | S H .8125" E o }{ 6 HOLES \"OHO—L ~+-<
% ‘L H 4 HOLES e > ] H (TYP.) ::
A I T R N I | 2 — 7/8"% x 2" HEX HEAD BOLT — X l | e
0 °le (TYP) w/HEX HEAD NUT & WASHER h 10 H |
S | ,, L2 — 7/8"F x 4" HEX HEAD
~ ! % BOLT w/WASHER —~f 4" L
2 HOLES
T °l BACK FRONT SIDE
I . ’ EXISTING GROUND L INE
'"d_ " s §is Co ) /
| ' g oo B g c+o
u N
H ) ST N STEEL BLOCK DETAIL
| 1 1 IR NI NO SCALE
EXISTING 12" WIDE NI N T %
RETA{INING WALL | BRI R
I I S
2 HOLES SRR
N - o::/ = THREADED ANCHOR GENERAL
o % LA (EPOXY IN PLACE)
WOOD POSTS S DE CRONT a o 2 — 3/4"@ x 6" ANCHOR BOLT [] ALL STEEL COMPONENTS SHALL HAVE A FACTORY
m DN w/HEX HEAD NUT & WASHER GALVANIZED FINISH.
FROM HERE — Cot e
SOUTHERLY . e
STEE]I POST DETAIL Lt e 2 RAIL POST & BLOCK (W6x9) AS SHOWN I[N
S e STANDARD PLAN C—Ib.
NO SCALE L dy w
PLAN VIEW OF RETAINING WALL A SKAMANIA COUNTY — WASHINGTON
COUNTY ENGINEERS OFF ICE
NO SCALE
EXISTING 12” WIDE RETAINING WALL 1997 CUARDRA | L PROJECT
DETAILS FOR STEEL POSTS
MATERIAL _LIST ON LOOP ROAD PROJECT
A taRT - TESCRIPTIIN ___SUMMARY OF QUANTITIES
10 | BLOCK W6 X 9 APPROVED Lasd £ GaulD LA\\/«;\_“M V. (.
10 | BRACKET L 8" X 4 x 1/2* DATE — /AR. 25 1932 COUNTY ENG INEER/
58 ;;ggx:ﬁ;. HB{( HEQB EHH w?\I\IIJLgTSHaéRWASHER POST & BLOCK ASSEMBLY DETAIL / 2//
x4* W é;,/ . ) A A~
gg 3/74/,’8¢'/g6” ?ﬁ%EE\EE%DLALCmEI\RIUT & WASHER NO SCALE L CHAIRMAN BOARD OF COUNTY COMMISSI|ONERS
20| 3/4'F THREADED ANCHIOR [EPees 11/14/ ] 97-08
10 | 5/8°¢ x 2* |BUTTON HEAD BOLT w/NUT & WASHER . c.R.P. NO. sheer 3 or 4
20 | 5/8F x 2* |HEX HEAD BOLTS w/NUT & CUT WASHER “ILE DRAWER COLDER SHEET

!
|
>
M
O

0 DMTI'ESLSIANL66T\IVITAVNONDNIMNG\! 4
A

—
!
~



